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1 FTB43 RBHE N Bk 440304200009 #*x#* 79.45 90.78 86.25 =
2 FTB43 RBHER D% X 4418211997 05%wxxx 79.35 86.50 83.64 =
3 FTB43 BN E T 440883199708 #*xxxx 76.85 38.00 83.54 =
4 FTB43 RRHER E 430703199907 *#xxx 77.85 86.60 83.10 2
5 FTB43 BN E R A 441423199206 *xxxx 75.15 87.14 82.34 =
6 FTB43 TBENE R BB 43100319991 0xxxxxx 74.95 85.40 81.22 =
7 FTB43 REBHE N %l 440301199206 **xxx 71.70 87.30 81.06 =
8 FTB43 TBENE R s 440882199208 ##*xxx 67.50 89.86 80.92 =
FTB43 REHEN L 44042119951 2xwwkx 83.70 78.20 80.40 =
FTB43 RBHE R F&F 522124199708 #*xxx 74.60 84.20 80.36 =
FTB43 BN E X 3R 411329200007 **x#*x 69.05 37.80 80.30 =
FTB43 B E R XiJ* 430426200108#xxxx 72.30 85.20 80.04 =
FTB43 TEMEN F55 421022199508 x#xx 71.80 85.00 79.72 5
FTB43 ZBHhE N EI 440506199705 xx 82.15 77.80 79.54 &
FTB43 TEMEN T 440307199706%*+#x+ 70.45 84.20 78.70 =
FTB43 TEME R T4l 13013219921 Lwxswrx 76.50 79.20 78.12 =
FTB43 TEMEN FJ* 44142419931 2xrnnx 78.40 77.50 77.86 5
FTB43 TEDER E 452730199809 +xwxx 82.85 74.40 77.78 5
FTB43 TEMEN B+ 440582200001 xx#wxx 76.40 77.76 77.22 5
FTB43 TRERNE R B 230404199203 #*+##x 77.55 76.80 77.10 &
FTB43 TEMEN FreoR 440981199801 ##xwxx 66.85 83.60 76.90 =
FTB43 RBME N Bt 210303199804 **+##x 76.65 77.00 76.86 &
FTB43 TEMEN Eaal 362228199707 *+#xxx 74.75 78.20 76.82 =
FTB43 TBMER B+l 440301199501 x#xsxx 72.60 79.50 76.74 =
FTB43 TEMEN S 441424199904 #xxwxx 72.65 79.10 76.52 =
FTB43 TEDER E+3h 44152219921 Qxrsrnx 72.65 78.60 76.22 &
FTB43 TEMEN B 452402200002+ %%% 72.55 78.40 76.06 5
FTB43 TEME N MR 440883199805 xx 73.35 77.40 75.78 &
FTB43 TEMEN Fix 430524199809 +xxxx 71.85 78.20 75.66 5
FTB43 TRMER B 450512199603+ xxxx 71.25 78.60 75.66 &
FTB43 TENER B 441424200008 ##xx% 74.50 75.80 75.28 =
FTB43 RBEMER Ey 360281199909 #*#+x 71.90 77.20 75.08 =
FTB43 TEMEN XiJ+3H 441523199903 %xx#xx 72.15 76.20 74.58 =
FTB43 TEMER [Iies 640324199408 %% 68.10 78.00 74.04 5
FTB43 TEMEN XiJ 421182199410 #kkxx 72.05 75.20 73.94 5
FTB43 ZRMER TR ES 4308221994 08xwxxx 68.55 76.80 73.50 &
FTB43 TEMEN E 42112519991 0% *xwxx 71.20 75.00 73.48 =
FTB43 TBMEN =) 421127198806 *kxxx 68.70 75.40 72.72 &
FTB43 TEMEN R4l 23050619901 2wk 67.75 75.40 72.34 =
FTB43 TBME R EE 445321199506 %xxx%x 67.25 74.80 71.78 =
FTB43 TENE N 8 441424199806 wxxxx 67.05 73.40 70.86 =
FTB43 TRNE R Y E 440982199606 *++* 67.15 72.80 70.54 &
FTB43 TEMEN A 430682199408 xxxx 66.90 71.16 69.46 5
FTB43 RBWHEN R 44088319961 2% #xxx 68.50 69.60 69.16 &
FTB43 TEMEN R 440602200001 xxxxxx 67.65 69.80 68.94 5
FTB43 REMEN e 36242819990 xwskx 82.05 3 32.82 =
FTB43 TEMEN Fk 445281199909 wkxxx 81.25 X 32.50 =
FTB43 TEMER By 431121199605 ##**xx 76.10 Ght 30.44 5
FTB43 TENE R % 43052319941 2xwkxxx 72.90 Tt 29.16 =
FTB43 TEMER 23R 44058220001 Qnx 72.60 B 29.04 =
FTB43 BN ER g 41282819981 Lxwkxrx 71.70 e 28.68 =
FTB43 REMER ER 36042919941 2siinx 71.00 B 28.40 =
FTB43 BN E R B+ 410782199607 xxxwxx 69.60 R 27.84 =
FTB43 REMEN [k 44152219981 1xrwwnx 69.45 i 27.78 =
FTB43 TEMEN 7R 445381199809 *+#x+ 69.15 e 27.66 =
FTB43 REMER =15 44088119991 0wxxx 68.70 s 27.48 =
FTB43 BN E R BHx 445222200104 xxx5xx 67.15 S 26.86 =
FTB43 TEMER Mo 445202199906 x* 66.90 B 26.76 =
FTB43 TEMEN Pz 441881199806 w*x+x 66.85 e 26.74 =
FTB43 ZEMEN B« 75 440582199808 +wwxx 66.75 i 26.70 =
FTB42 BS54 B 5 X+ 445122199805 ###*xx 79.20 90.40 85.92 =
FTB42 B &R & 42118119930 ##kxrx 81.80 84.80 83.60 =
FTB42 BB = Bekaa 350425199202 rxxxx 80.10 83.00 81.84 =
FTB42 BEAER N EES 35032219971 2krswx 81.70 79.60 80.44 =
FTB42 B EiER R SR 445281199808xwxxx 79.20 79.60 79.44 &
FTB42 B &R P 440921199308 wxxxx 80.15 Bt 32.06 =
FTC24 ZEVER =K 431026199501 *#kxx 83.20 85.80 84.76 =
FTC24 S5 %R = 440301199407 *xx#x+ 81.60 33.80 82.92 =
FTC24 SZEIVER [+ 445281200105 #xx+% 80.15 84.40 82.70 &
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70 FTC24 S5V ER T5% 441223199906%*+#x+ 81.70 82.20 82.00 =
71 FTC24 ZEVER [+ 3iE 440513200009 xx%x 80.75 80.40 80.54 5
72 FTC24 S5V ER [EEE 41130219961 0%*+#x+ 80.70 30.40 80.52 =
73 FTC24 ZEIVER B 445221199902k x% 81.75 78.20 79.62 &
74 FTC24 ZEVER B 445122199503 %wxxxx 79.60 78.00 78.64 =
75 FTC24 ZEVER fSan 440582200008 +wxxx 79.80 3 31.92 =
76 FTC24 S5 ER o 22018119921 0 wkxx 79.40 e 31.76 =
77 FTC26 TEITER Mgz 440301199604 xwxxxx 75.85 89.60 84.10 =
78 FTC26 FEIEN X 410403199201 ##ksxxx 78.25 87.60 83.86 =
79 FTC26 RETHERN e 441424199903 %+wwxx 74.05 90.00 83.62 =
80 FTC26 TETEN B 350524199107 *#*xxx 75.55 83.40 80.26 5
81 FTC26 FEIEN Rl 4409821994 08w xx 79.45 79.20 79.30 =
82 FTC26 RETEN =R 44522219981 0xwxxrx 74.20 81.50 78.58 =
83 FTC26 BEIEN R 441522199401 ##xxrx 76.55 79.80 78.50 &
84 FTC26 TETEN 15 440307200105%#*xxx 70.65 83.40 78.30 =
85 FTC26 TETHER s 440506199809 xxxxx 71.60 80.60 77.00 =
86 FTC26 TETIER X 445221199603 xwkxxx 71.00 80.60 76.76 =
87 FTC26 RETER MR 440582199902 xx 70.05 80.20 76.14 &
88 FTC26 TETEN KB+ 440582199806 +##*x 69.90 80.00 75.96 5
89 FTC26 FEIEN B* 430422199810 #xxx 71.70 78.40 75.72 &
90 FTC26 TEIEN Bk 440582199902 #xxx 83.85 e 33.54 =
91 FTC26 EETER e 445281199503 %#xx% 69.85 e 27.94 =
92 FTC25 EE X R 43052120001 1 #*xwxx 71.40 86.20 80.28 =
93 FTC25 EEN Sz 452201200002#%xxx 73.70 84.00 79.88 =
94 FTC25 EE N =3 421002199808+ x#* 70.10 86.30 79.82 =
95 FTC25 EEN 8 441622200104 %xx5%x 67.35 87.90 79.68 =
96 FTC25 EE N FRAh 450681199806 #*x#+ 70.85 85.40 79.58 =
97 FTC25 EEN {a]+ 2 440923199601 x#xxxx 60.55 90.60 78.58 =
98 FTC25 EEN S 44030619911 2xxxxxx 65.50 86.40 78.04 5
99 FTC25 EEN SRx%] 445221199902 +wwxx 66.15 85.60 77.82 S
100 FTC25 EER EAtal 44522119951 0% *xwx+ 65.45 86.00 77.78 =
101 FTC25 EEN 1L 440183199805 xxxxx 65.45 85.00 77.18 =
102 FTC25 EEN ] 4409811997 08xxwxx 66.80 81.80 75.80 )
103 FTC25 EER FF+E8 440882199802 xx+* 64.80 82.10 75.18 &
104 FTC25 EEN B 360721200111 ##wxxx 67.55 80.20 75.14 5
105 FTC25 EER F+F] 421221199810 #xxx 59.75 85.00 74.90 &
106 FTC25 EEN [P 340322199002+ 59.00 85.40 74.84 5
107 FTC25 EER g 360121200003 %+xwxx 65.55 81.00 74.82 &
108 FTC25 EE R FrH 420683199903+ x#+x 62.90 82.60 74.72 =
109 FTC25 SN sy 341222200006%**++x 61.35 83.60 74.70 =
110 FTC25 EE N hx 445221199205 wkxxx 63.70 81.20 74.20 =
111 FTC25 EER [l 441421199601 x#xxx 58.90 84.20 74.08 =
112 FTC25 EEN 5 411525199805 xxxx 63.15 80.40 73.50 5
113 FTC25 EER M4l 440583199502 #wkx 59.15 81.20 72.38 &
114 FTC25 EEN [FRx1E 35078319991 2##kxx 75.25 R 30.10 =
115 FTC25 FER ol 360702200007 x#xxx 64.15 Bt 25.66 =
116 FTC25 EER X 500382199908 *+#x+x 64.05 Bt 25.62 =
117 FTC25 EEN Wi 360722198908+ xx#x 60.10 B 24.04 &




